
Dolphin Wave 200

POOLSPA CODES ITEM ITEM NO. DESCRIPTIONS RETAIL 2025 MODEL

22310401345 01 9995412-ASSY RCU Wave 200/300 14,000.00          Wave200

22310401360 02 9991039-ASSY MMI Display Cover - Assy 1,400.00            Wave200

22310401355 03 9995993-ASSY Tool: Wave Man Machine Interface 139,000.00        Wave200

22310403920 03.03 99958904 Cable Wave 35 35,000.00          Wave200 o

22310401350 04 9980490 Tool: Wave - Mmi Omega 400.00               Wave200

22310401600 05 9996088-ASSY Caddy (Wave 200/300) 195,000.00        Wave200

22310404419 05.01 7100018 Caddy Sub (Wave) Handle 99,000.00          Wave200

22310401610 05.02 9991726 Caddy Sub (Wave) Cable Holder 1,500.00            Wave200

22310401615 05.03 9991721-ASSY Caddy Sub (Wave) Arm Reel 10,000.00          Wave200

22310403635 05.04 9982426 Valve - Non Return Wave 200 800.00               Wave200 o

22310401620 05.04 9980324 Caddy Sub (Wave) Bearing Holder 2,500.00            Wave200

22310401625 05.05 9991724 Caddy Sub (Wave) Reel Holder R 3,300.00            Wave200

22310401630 05.06 9980328 Caddy Sub (Wave) Reel Bearing 1,700.00            Wave200

22310401635 05.07 9991722-ASSY Caddy Sub (Wave) Cable Reel+Swivel 37,000.00          Wave200

22310401640 05.08 9991725 Caddy Sub (Wave) Reel Holder L 2,700.00            Wave200

22310401645 05.09 9980337 Caddy Sub (Wave) Cable Fixer 1,700.00            Wave200

22310401650 05.10 9991723-ASSY Caddy Sub (Wave) Swivel Assy 33,000.00          Wave200

22310401655 05.11 9991727 Caddy Sub (Wave) Cable Bend Assy 700.00               Wave200

22310401660 05.12 9980320 Caddy Sub (Wave) Wheel Cover 6,000.00            Wave200

22310401665 05.13 5000017 Amphenol Plug 1,900.00            Wave200

22310401670 05.14 4901641-ASSY Caddy Sub (Wave) Wheel+Bearings 6,500.00            Wave200

22310401675 05.15 7100019 Caddy Sub (Wave) Tray 82,000.00          Wave200

22310401130 05.16 9993072 Bearing + Holder Assy IGUS Wave 1,200.00            Wave200

22310401680 05.17 3390515 Caddy Sub (Wave) Caddy Legs Cork 100.00               Wave200

22310401685 05.18 3967020 Caddy Sub (Wave) Front Rubber Pad 300.00               Wave200

22310401690 05.A 3300560 SCREW M5X60 DIN7985A A2 FORM H 300.00               Wave200

22310400715 05.B 3379616-A Screw KA50X16 (Retail) 100.00               Wave200

22310401695 05.C 3300550 SCREW M5X50 DIN7985A A2 FORM H 100.00               Wave200

22310400835 05.D 3379450-A Screw KA40X12 100.00               Wave200

22310400835 05.D 3379450-A Screw KA40X12 100.00               Wave200

22310401700 05.E 3100540 SCREW M5X40 A2 DIN7985 100.00               Wave200



22310400835 05.F 3379450-A Screw KA40X12 100.00               Wave200

22310400835 05.F 3379450-A Screw KA40X12 100.00               Wave200

22310401440 05.G 3509350 Nut M5 A2 DIN 985 100.00               Wave200

22310401705 05.H 3516471 Wave - Circlip 10mm 400.00               Wave200

22310401460 05.I 3300516 Screw M5 x 16 DIN 7985A A2 Form H 100.00               Wave200

22310403870 06 99956026AU-ASSY Power Supply Wave 200/300 AU (2017) 148,000.00        Wave200

22310401480 06.01 5102010 Switch Cover Flange for Wave PS 1,500.00            Wave200 o

22310404418 06.01 5102002 Switch Cover Kit (For PSU) 1,500.00            Wave200

22310403875 06.03 9991189LF Cable Loom PSU AC Wave 200 2,000.00            Wave200

22310401520 06.04 9991138LF Wave PS Cable 2,000.00            Wave200 o

22310404420 06.04 9991200LF Cable - Power Supply Wave AU 1,700.00            Wave200

22310401500 06.05 5890034LF Nut for MMI Socket 200.00               Wave200

22310401490 06.06 9986009 Wave PS Casing 11,000.00          Wave200

22310401575 06.07 5020016 Wave PS Amphenol Socket 1,800.00            Wave200

22310401570 06.08 5020017 Wave PS Amphenol Socket Cover 900.00               Wave200

22310401515 06.09 3860221 Oring for PS Cable 22-1.5 100.00               Wave200

22310403880 06.10 9991185LF Cable - Power Supply MMI Connector 2,000.00            Wave200

22310400785 06.11 3390223 Cover plug for frame 100.00               Wave200

22310401510 06.12 9991729 Amphenol Kit for Wave PS 2,500.00            Wave200

22310403885 06.13 9991176LF Cable Loom PSU DC Wave 200 2,000.00            Wave200

22310403890 06.14 5645030-ASSY Power Pack for PSU (PSU Wave 200 & 300) 88,000.00          Wave200

22310403895 06.15 9991177LF Cable Loom PSU DC In Wave 200 2,000.00            Wave200

22310403900 06.16 9982472 PS Bottom Plate 8,000.00            Wave200

22310403905 06.17 99951089-ASSY Electronic Card PWS Wave 200 7,800.00            Wave200

22310401380 06.A 3379410-A Screw WN1412 A2 KA40X10 70.00                 Wave200

22310400495 06.B 3379212 Screw KA30X12 70.00                 Wave200

22310400155 06.D 3379440-A Screw KA50X12 A2 WN1412 (Retail) 70.00                 Wave200

07 WAVE 200 - CATALOG KIT Wave200

22310403910 07 8881062 WAVE 200 - CATALOG KIT Wave200 o

22310403525 07.01 9991323-ASSY Filter Cover Wave 200 Assy 15,000.00          Wave200

22310403530 07.01.01 9982412 Wave Hood 2,600.00            Wave200

22310403550 07.01.05 9991331-ASSY Button Cover Assy Wave 200 4,500.00            Wave200

22310403555 07.01.06 9982481 Hood Axle R 200.00               Wave200

22310403560 07.01.07 9982482 Hood Axle L 200.00               Wave200

22310403565 07.01.08 9991325-ASSY Jet Wave 200 Assy 1,800.00            Wave200

22310403570 07.01.09 3860023 Jet Wave 200 Seal 600.00               Wave200

22310403575 07.01.10 9982449 WATER RELEASE FLAP 200.00               Wave200



22310403580 07.01.11 9982419 Filter Cover plus Over Mould 2,800.00            Wave200

22310400715 07.01.A 3379616-A Screw KA50X16 (Retail) 100.00               Wave200

22310400715 07.01.A 3379616-A Screw KA50X16 (Retail) 100.00               Wave200

22310400835 07.01.B 3379450-A Screw KA40X12 100.00               Wave200

22310400715 07.01.C 3379616-A Screw KA50X16 (Retail) 100.00               Wave200

22310400715 07.01.C 3379616-A Screw KA50X16 (Retail) 100.00               Wave200

22310401440 07.01.D 3509350 Nut M5 A2 DIN 985 100.00               Wave200

22310401400 07.01.E 3105580 Screw M5x80 A2 300.00               Wave200

22310403590 07.02 2735610 SPACER 5.2X10X30 300.00               Wave200

22310403915 07.03 8881064 WAVE 200 CABLE - CATALOG KIT Wave200 o

07.03 WAVE 200 CABLE AU - CATALOG KIT Wave200

22310403595 07.03.01 9980403 Wave Grommet 600.00               Wave200

22310401235 07.03.02 99960087 Float Assy For Cable Wave 1,400.00            Wave200

22310400995 07.03.04 9991274 Retrofit For Cable Con Wave 1,200.00            Wave200

22310400120 07.03.04.01 9985048 Cable Conn Three Pin 1,100.00            Wave200

22310401000 07.03.04.02 1811602LF Cable Crimp 10-12# 20A 3.18 600.00               Wave200

22310400125 07.03.04.02A 1811404 Cable Connector 200.00               Wave200

22310400220 07.03.04.04 3861002 RK RING FOR CABLE CONN. 300.00               Wave200

22310401320 07.03.05 9991042-ASSY NylonString + FastenRings Assy 200.00               Wave200

22310401270 07.03.06 9980394 Wave - Cable Handle 600.00               Wave200

22310401330 07.03.07 9991020-ASSY Wave - Pulling Handle Assy 2,900.00            Wave200

22310401265 07.03.09 3506799 Circlip Dia.8Mm A2 400.00               Wave200

22310401260 07.03.10 5581002 Shaft Wave Cable Handle 1,200.00            Wave200

22310401250 07.03.11 9980393 Wave - Cable Handle -Upper Part 600.00               Wave200

22310401255 07.03.12 9980392 Wave - Cable Handle -Lower Part 600.00               Wave200

22310401665 07.03.13 5000017 Amphenol Plug 1,900.00            Wave200

22310400840 07.03.A 3354020-A Screw KA40X20 (Retail) 100.00               Wave200

22310403610 07.04 9982413 TOP BODY WAVE 200 6,900.00            Wave200

22310403925 07.05 8883988 FILTERS WAVE 200 - CATALOG KIT Wave200 o

07.05 FILTERS WAVE 200 - CATALOG KIT Wave200

22310403615 07.05.01 5581021 Filter Handle Wave 200 3,400.00            Wave200

22310403625 07.05.02 9991473 Filter Cartridge Ultrafine Wave 200 30,000.00          Wave200

22310403620 07.05.02-1 9991474 Filter Cartridge Wave 100UM 36,000.00          Wave200

22310403630 07.05.03 9982417 Filter Net Cyclone 6,000.00            Wave200

22310403645 07.05.06 9982416 Filter Bucket Wave 200 6,000.00            Wave200

22310403655 07.05.07 3860029 Seal for Filter Wave 200 1,900.00            Wave200

22310403660 07.05.08 9982474 Canister Base 1,600.00            Wave200



22310400715 07.05.A 3379616-A Screw KA50X16 (Retail) 100.00               Wave200

22310400835 07.05.B 3379450-A Screw KA40X12 100.00               Wave200

22310403665 07.06 9982457 AXLE SUPPORT 600.00               Wave200

22310403670 07.07 9982442 IMPELLER COVER W200 1,900.00            Wave200

22310403675 07.08 9982485 Impeller - Wave 200 400.00               Wave200

22310403680 07.09 9995391-ASSY Motor Suction Unit Wave 200 XL 62,000.00          Wave200

22310403685 07.10 9995390-ASSY Motor Drive Unit Wave 200 XL 22,000.00          Wave200

22310403690 07.11 9982405 Wheel Adaptor - Wave 200 9,200.00            Wave200

22310403695 07.12 9982477 Brush Wave 200 2,600.00            Wave200

22310403700 07.13 9982421 REAR BUMPER 6,000.00            Wave200

22310403930 07.14 9991720-ASSY Wave Navigation Box Assy 128,000.00        Wave200

22310403705 07.15 9982415 Side Panel Wave 200 R 3,700.00            Wave200

22310403710 07.16 9982428 Side Brush Wave 200 1,100.00            Wave200

22310403715 07.17 9991328-ASSY Brush Arm (Wave 200) 9,400.00            Wave200

22310403220 07.17.02 9991333 Gear T10/24 Wave 200 400.00               Wave200

22310403725 07.17.03 9991332 Gear T10/11 Wave 200 400.00               Wave200

22310403730 07.17.04 5581410 Drive Belt T10-410 Wave 200 2,300.00            Wave200

22310403735 07.17.05 5581609 Bearing: Adjustable Wave 200 4,300.00            Wave200

22310400715 07.17.A 3379616-A Screw KA50X16 (Retail) 100.00               Wave200

22310403740 07.18 9991327-ASSY TENSION Wheel ASSY 5,900.00            Wave200

22310403745 07.18.01 3917037 Spring Tension W200 2,400.00            Wave200

22310401400 07.18.A 3105580 Screw M5x80 A2 300.00               Wave200

22310403765 07.18.B 3105600 SCREW M5X60 A2  DIN912A 200.00               Wave200

22310401440 07.18.C 3509350 Nut M5 A2 DIN 985 100.00               Wave200

22310403770 07.19 9982483 Bearing: Driving 4,100.00            Wave200

22310403935 07.2 8881063 WAVE 200 BOTTOM - CATALOG KIT Wave200 o

07.20 WAVE 200 BOTTOM - CATALOG KIT Wave200

22310403775 07.20.01 3860017 Suction Tube Oring Silicon Wave 1,600.00            Wave200

22310403780 07.20.02 9982424 Suction Tube Wave 200 1,600.00            Wave200

22310403785 07.20.03 9982458 Wheel Shaft Holder 200.00               Wave200

22310403790 07.20.04 9982459 Wheel Bushing 700.00               Wave200

22310403795 07.20.05 5581018 Anchor Wave 200 4,900.00            Wave200

22310403800 07.20.06 9982411 WAVE 200 LOWER BODY 12,000.00          Wave200

22310403805 07.20.07 9991334 Bottom Cover + Vacuum Closing Wave 1,900.00            Wave200

22310403810 07.20.08 9982431 Vacuum Strip L/R 1,900.00            Wave200

22310400835 07.20.B 3379450-A Screw KA40X12 100.00               Wave200

22310403815 07.20.C 3304418 Screw DIN912 A2 M5X16 200.00               Wave200



22310401440 07.20.D 3509350 Nut M5 A2 DIN 985 100.00               Wave200

22310403820 07.20.E 3379408-A Screw WN1412 A2 KA40X8 100.00               Wave200

22310404355 07.21 3889201 Wave XL Belt (2020) 12,000.00          Wave200

22310403825 07.21od 3889200 Wave XL Belt (2017) 13,500.00          Wave200

22310400050 07.22 3865005 HEXAGON ADAPTOR FOR D TYPE SHAFT 600.00               Wave200

22310403830 07.23 5581411 Drive Belt T10-500 Wave 200 2,300.00            Wave200

22310403835 07.24 9991330-ASSY Wheel Assy Wave 200 15,000.00          Wave200

22310403840 07.25 9982414 Side Panel Wave 200 L 2,900.00            Wave200

22310403845 07.26 9991329-ASSY Brush Arm Wave 200 Assy 5,000.00            Wave200

22310403220 07.26.02 9991333 Gear T10/24 Wave 200 400.00               Wave200

22310403735 07.26.04 5581609 Bearing: Adjustable Wave 200 4,300.00            Wave200

22310400715 07.26.A 3379616-A Screw KA50X16 (Retail) 100.00               Wave200

22310400030 07.27 9982332 Cable Holder DB 70.00                 Wave200

22310401135 07.28 5580633 WaveRing Stopp. for WheelShaft 600.00               Wave200

22310403850 07.29 9982423 Front Bumper 4,300.00            Wave200

22310403855 07.30 9982466 Service Cover - Wave 200 1,400.00            Wave200

22310403575 07.31 9982449 WATER RELEASE FLAP 200.00               Wave200

22310403810 07.32 9982431 Vacuum Strip L/R 1,900.00            Wave200

22310403860 07.A 3305050-A SCREW A2 WN1412 KA50X50 (Retail) 200.00               Wave200

22310400155 07.B 3379440-A Screw KA50X12 A2 WN1412 (Retail) 70.00                 Wave200

22310400715 07.C 3379616-A Screw KA50X16 (Retail) 100.00               Wave200

22310403865 07.D 3374410 SCREW BN 5952 ECO FIX A2  M4X10 600.00               Wave200

22310401440 07.E 3509350 Nut M5 A2 DIN 985 100.00               Wave200

22310403765 07.F 3105600 SCREW M5X60 A2  DIN912A 200.00               Wave200

22310401390 07.G 3374111 Screw Tuf A2 Form - H M4 x 10 600.00               Wave200

22310400835 07.H 3379450-A Screw KA40X12 100.00               Wave200

Dolphin Wave 200





05  Caddy (Wave 200/300)



06  Power Supply Wave 200/300 AU (2017)



07  WAVE 200 - CATALOG KIT



07.01  Filter Cover Wave 200 Assy



07.03  WAVE 200 CABLE AU - CATALOG KIT

07.03.04  Retrofit For Cable Con Wave



07.05  FILTERS WAVE 200 - CATALOG KIT



07.17  Brush Arm (Wave 200)

07.18  TENSION Wheel ASSY



07.26  Brush Arm Wave 200 Assy

07.20  WAVE 200 BOTTOM - CATALOG KIT


